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D x? + 4y? + 9z% — 4xy + 12yz — 62x
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@® a® + b2 + % + 2ab + 2bc + 2ca
@ a® + b2 + ¢ — 2ab — 2bc — 2ca
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a=1,-b+d=-3,-a-2b+c=-3,b—2a=0
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D352 +x+1 @ x2+x+1 @ 3x2+1
@ x24+x-1 ® 3x2+x

YA ol8stH g =3x2+x-2,b=3
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@4x2—6x+1 @ 4x2-7x+3 ® 4x2—4x+5

@ 4x2-8x+2 ® 4x2 -6x+7

213 Yol A gt
Bi4x? —x-2, YA —5x+3
ST YR Y] T 4x? - 6x+ 1




12.
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@ 18 @ 19 ® 20 (@)21 ® 22

¥ -3+ 2x=x(x-2)(x-1)

x—4x3 4452 = 22 (x - 2)°

Sf @) =x(x-2),8(x) =22 (x-1) (x-2)°
A fB)+g(3)=3+18=21
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@ x @x—!—l ® x+2 @ x-1 ® x-2

Brl=x+1)%-x+1)
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O (x-1)(x-2) @ @+)x+2) @u+1)x-2)
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f(x) =x*-4x+3a+b,
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@ (x=1)(x-2)(2x-1) @ (x=1)(x+1)(2x-1)
@) - 1)(x+2)(2x+1) @ (x-1)(x+2)(x+3)
® (x-1)(x+2)(x-2)
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(ii) ¥* =3x+2# 0 oA (x-1)(x—2) #0
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